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1. As shown in Figure 1, V..=24(v), R.=10kQ, R,=270Q, [=45 for

silicon transistor, V. =5 (v), V=06 (v), ignore the inverses
saturation current, find the value of R.

Veoo= 24 (V)
| .

Figure 1

9. A three-pole feedback Amp has a dc gain without feedback of —10°. All
three open-loop poles are at f =1MHz.

<a> What is the maximum value of A for which amplifier 1s stable?
<b> Assume that one of the poles is shifted to f, =200kHz, using the

value of S found in part <a>, what is the gain margin of the
modified circuit?
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3. As shown in figure 3, R=2(kQ), R,=2(kQ), R =1kQ), V,=1(),
V. =0.5(V), find the output voltage V,.

Figure 3

4. Given the Wien Bridge Oscillator in Figure 4, find the oscillating

R
frequency and EL .

Figure 4

5. Given the circuits in Figure 5.1, Figure 5.2, and Figure 5.3, A, B, C,
and D are inputs, and ¥, is the output. Find the truth tables of these

three circuits.

Figure 5.1 Figure 5.2 Figure 5.3




